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Aufgabe 1

Berechne.

a) (= )*(
)( 0)
g) (+9) * (=3

Aufgabe 2

47 D)) o
G b= o)

Berechne.

a)) EH??) *((—9%0) ?) (—10)*(1515) )() gw() 1(4) 14)
d) (=7) * (— e) f) (+

g) (—6) * (—15) h) (+5 ; E ; i) (—14) * (—16)
i) (—2) = (+12)

Aufgabe 3

Berechne.

a) (+39) * (—32) b) (+20) * (—20) c) (—24) * (—I—22)
d) (+44) * (—=5) e) (—9) * (=33) f) (+17) * (—15)

g) (—30) * (+22) h) (+35) * (—36) i) (+6) * (—4)

i) (—29) * (=5)

Aufgabe 4

Berechne.

a) (-|-88) * (—11) b) (-|—71) ( 66) c) ( 11) (-|-88)
d) (—|—31) * (—62) e) (—27) % (—91 f) (—25) * (—12)
g) (—|—52) * (—17) h) (+60) ( 75) i) (—10) * (—64)
j) (=66) * (—86)

Viel Erfolg!
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